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(1) -gr=t (2) I9-T=t (3) fear-guret (4) migr
148 | There is no atmosphere on the moon because

(1) itis close to the earth (2) it revolves around the earth

(3) its acceleration due to gravity is low (4) its acceleration due to gravity is high
148 | ¥= Que d¢t T 1sw &4t I faffa

(1) fegfygst €339 (2) fev fug=t erd Wper

(3) I3 J94 fer e ISt T9us fors I (4) I3 F94 fen v ISt-=9us €9 9

149 | A body in uniform motion in one dimension moves from a position X; at time t; to another position X,
at time t,. Which of the statement is wrong for this motion?

(1) Actual distance covered in time t; to t, is magnitude of displacement

(2) The velocity calculated by making any choices for t; and t, always give the same result

(3) A larger value of the difference t,-t; will give a small value of velocity because velocity is obtained by
dividing t,-t;

(4) A 'larger value of X,- X; will give same value of velocity as a smaller value

149 | feq forr feg feanre a3t & fea iz t, m* 3 X, Afaat §° t, ' 3 fea 99 Afgst X, =5 @er JIfen ot
TR fausT qus a%3 &

(1) AHT t;, 3 AN t, 3 3 1St Tmsfed gat femaus e ufone 7

(2) t, M3 t, BT T I T96 THS Ufgasfuz 91 IHET ANTS Ufae™ yers daeT I

(3) t, t; © W3 T TIOW NS, FaT &7 MBU ¥ YT's gaar fagfat, - ¢, et 3 Fyuz er g

(4) X,= X, €T TI9W H &, MBUY HS T <1 € AH'S H S Y& Idar|

150 | Which part of the eye is adjustable in accordance with the light conditions?

(2) Iris (2) Retina (3) Pupil (4) Lens
150 | ygm €t T8 3T mgATe MY T faaT I miggsTHar ger O
(1) Wy-u3st & ¥t (2) Wiy €T yger (3) iy €t 3BT (4) B&d

SOCIAL STUDIES / SOCIAL SCIENCES (BILINGUAL) — 60 QUESTIONS (91 — 150)
91 | The Singh Sabha movement was broadly begun in the
(1) eighteenth century  (2) twentieth century (3) nineteenth century (4) twenty first century

91 | fiw A~ Bfge He 39 3 a€ Hy 99 :

(1) 18 =t A<t (2) 20 =t et (3) 19 =t A<t (4) 21 =X A<t
92 | Theright to property is
(2) All of these (2) A fundamental right (3) Acitizen’s right (4) A legal right
92 | Ayt e mifgag 9 :
(1) feg A9 ot (2) y& mifaag (3) Zrarfad @ wfuag (4) Té&T mifadTg
93 | Ateacher has to be adapt at
(1) Acting (2) Learning (3) Communication (4) Playing multiple roles
93 | nifgwruar & fam @ AHTE I Iter 3 -
(1) mfgd & (2) fAferr —yrut & (3) A9 & (4) ggudt ghharet fsgBe &

94 | The Fundamental Rights in India are designed to

(1) Ensure rights of human beings

(2) ensure that all Indians can lead their lives in peace and harmony as citizens of India
(3) protect liberty

(4) protect freedom

94 | g9 feuw y® nifuare fan st fsaels 913 e 95 :
(1) gyt € mifuarat § welta! gerge Bt
(2) feg Tetal ge€< et fa A9 g9t 9793 I arfddT @1 MTUST Hies gt m3 fedndaT 7% 9313 99 A<

(3) vireret €1 B9 fuT Bt
(4) F3393" €1 S (U™ BT
95 | Part of the complexity in teaching social sciences lies in the fact that their subject is
(1) Ever changing (2) Very complex (3) Non-existent (4) Localised

95 | mure fefarrrst @ mforus feg fea Afewsas fem Sufev dfa @grerfemr 3 :
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(1) eT Yfg=a3asHis (2) mf3 Afes (3) MAfgI=-dte (4) rErsifaa
96 | When does history begin?

(1) when human civilization begins (2) when human memory begins

(3) when written sources become available (4) all of these
9 |fefsgmas ggderd:

(1) A WG 4t Afgm3T @ wrgg Jer 7 (2) AE HG 4t faHat e wag ger &

(3) 7ie feudt A3 Qusey Je 08 (4) Quaazs A It

97 | All revenues received by Government by way of taxation like income-tax, central excise, custom, land
revenue (tax revenues) etc. form the

(1) Government of India (2) Contingency Fund of India

(3) Consolidated Fund of India (4) All these

97 | gerurs fA" Mnest a9, wraaTdt, §ait, iEgaTat wirfe € gy feu AedTe @8° yu3 Ardt Miniest s g et &

(1) 9793 AIAT (2) 9793 T MTIAMIAIT &5 (3) g3 T AfEI &  (4) Quazs A9 ot

98 | Which of the following occupies the largest cultivated area in India

(1) Barley and maize (2) Jowar and bajra (3) Wheat (4) Rice
98 | ggg feg AT 3' 3T AHI T U437 fan T wuts T :

(1) 7 M3 Hat (2) TTd MI TTHIT (3) I (4) 98

99 | Identify the correct time sequence for the following:
(1) Guru Har Krishan, Guru Har Rai, Guru Har Gobind  (2) Guru Angad, Guru Har Gobind, Guru Amar Das

(3) Guru Nanak, Guru Angad, Guru Har Gobind (4) all of these
99 | I fafiput € ARG AHF-H &t ygTe d4:
(1) 39 JIfIH&, TG I9 e, g Jaaifae (2) T T, IIF IIAEC , I MIHE™H
(3) IT 375d, IF MaIIE, I Jadiae (4) Qudaz A9 Tt
100 | The r;arliament;ry system_in India is based on the principle of
(1) First Past the Post (2) Proportional Representation
(3) Majority vote (4) Popular democracy
100 | grgz €t Anet yerat fags fauts Gue mofag 3 :
(1) sgfarest <<t &t I yorst (2) migur3q yf3fesuzr
(3) sgfarest 2 (4) Bt BIIIT
101 | In terms of history which is the proper chronological order
(1) Paleolithic, Megalithic, Microlithic, Neolithic (2) Neolithic, Megalithic, paleolithic, Microlithic
(3) Paleolithic, Neolithic, Microlithic, Megalithic (4) Microlithic, Neolithic, Megalithic, Paleolithic

101 | fefgam € gu few €fe3 aagfia 39ty faust 9 :

(1) YIT-U'Hg, HU™-UHF, FUH-UEd, 32-UEd  (2) 32-UEd , HU™-UET, Ud-UEJ, FUH-UEd
(3) UdT-UHd, 5=-UHJ , FYH-UEJ, HU™-UEd  (4) FUH-UEJ, 3<-UHJ , HI™-U &J, UdT-U&d
102 | The greatest impact on t_he environment of earth h;s been from

(1) Atomic blasts (2) Human activity (3) Chemical pollution (4) Solar radiation
102 | fyg<t @ uferr=es Qua Ag 3 <37 ygre fan ufA€ fagr 3 :

(1) Uenre fende (2) Wg Ht ar3tfedt (3) IATfesd ygue (4) gaHt fefaas
103 | Where rice was first domesticated?

(1) Antarctica (2) South Asia (3) America (4) Europe
103 | grew <t am3s ufost fag a1t aret -

(1) Wegafear (2) TUST EHbAT (3) mHdtaT (4)gay
104 | From the Mansarovar Lake region come the following rivers of India

(1) Brahmaputra, Sutlej and Yamuna (2) Brahmaputra, Indus and Sutlej

(3) Indus, Jhelum and Sutlej (4) Jhelum, Sutlej and Yamuna

104 | wrand=e 915 yen 3 faus eforr fsase g5 :

(1) §UHY' 3T, ASBH M3 THET (2) gOHY' 39, AT W3 AS®H
(3) fiT, A9®H m3 ASEH (4) FIBH, ASSH M3 THGT
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105 | India is a large country. It covers how much area of the earth?

(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
105 | ggz ggz <37 I | fen € #3993 fue=t e fdar 4z mr@er 3 :
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
106 | Recently there has been much controversy over the condition of glaciers in India. The fear is that
glaciers are
(1) Advancing (2) Deepening (3) Retreating (4) Thickening
106 | g 4t few 9793 feu aBHmaT &t menar 913 Tt Tro-feew faur 3 | 39 fev I fa BT 95 -
(1) U I (2) afgd I 7 (3) we I3 (4) g8 I &I
107 | Prasar Bharti is
(1) The Public Service Broadcaster of India (2) An NGO
(3) ATV organisation (4) A radio organisation
107 | yma 9793t T :
(1)SII T BT AT YIS ()mMas A€ (3) ¢t =t s (4) IFE FaBE
108 | The third planet in the solar system is also called
(1) Venus (2) Mars (3) Earth (4) Neptune
108 | gan-15% feg A7 affg & J9 ot wrfepr wreT 3 :
(1) Feg (2) Va1 (3) fys=h (4) =g

109 | The Buland Darwaza was built to
(1) Celebrate the birth of the heir to the throne of Agra  (2) Commemorate the conquest of Gujarat
(3) Honour the Chishti saints (4) All of the above

109 | g&w waea fanw T3 ge=rfonr fopum At :
(1) MaIE € 343 € fan & A6H fes Hage Bet (2) IAES & fAZ & HaBe Bt

(3) foust A3t € AaH™® Bt (4) Qudaz A9 Tt
110 | The first state systems in India were formed in which region

(1) Kaveri valley (2) Narmada valley (3) All of these (4) Ganga-Yamuna doab
110 | gra3 feu ufawt o feener faus yen fev gt aret :

(1) Fr=at Wt (2) SIHET WSt (3) Qudaz Ad It (4) FET WHET SwrET
111 | Controlling air pollution is important to ensure that

(1) Crops do not suffer (2) Industries get a proper supply of air

(3) we have clean air to breathe (4) Animal population does not go down
111 | o9 ygHT § 928 J9sT feu watal g8 &et Ho'3=uas I fa

(1) SHST TSNS &7 d= (2) Getiar § =g < €fes ruzTet g

(3) A3 I% AT B< B A'Q I=7 9= (4) ug Aftpym we 37 9=

112 | The Slave Dynasty consisted of

(1) A single family which had obtained its freedom from slavery

(2) A number of unrelated families whose founder was a slave soldier in service of the king
(3) The slaves of Indian ruler

(4) None of the above

112 | g €w few Afifesa 3 -

(1) fegsT ufgeTa fam & T3 3 FE393 YUz 13t At

(2) 993 AT MAETUZ ufdeTg fAd = HEt o+ <t A< a9 fagr @ fautgt At

(3) I3t A & IB™H
(4) Quda3 feg Jet &4t
113 | Ashoka’s dhamma was
(1) A principle of good conduct (2) Anideology
(3) A set of ideas propagated by emperor Ashoka (4) All of these

113 | e =7 G& wt :

(1) §91 mrad< @ fAats (2) feq fegragrar
(3)Ad AHTTE 28 Y99 fegrat e Ae (4) Qudag AT Tt
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114 | Saffron is produced in India in

(1) Assam (2) Bengal (3) Gujarat (4) Jammu and Kashmir
114 | grgg feg ang e @3ues fag der 3 :
(1) MAH (2) HIr® (3) IAITS (4) A M3 It

115 | What is common to Fakir Azizuddin, Diwan Moti Ram and Claude Auguste Court

(1) They were astronomers of considerable reputation

(2) They were employed by Maharaja Ranjit Singh

(3) They were soldiers of fortune

(4) All of these

115 | =die wiwig €1, €1e7s H3T T M3 a8TS M ame a9 feg at Afg 3 -

(1) €9 femm yfAat =& wds-fefarrst A5 (2) 89 Ho9#T I3 fiw € goHgTdt As
(3) €9 93 © faudt As (4) Qudarg Arg It

116 | When the government was faced with customs that were different to the laws that it enacted it
allowed them to exist under the name of ‘customary law’. Custom here was defined as
(1) Something that had been practiced since ‘time immemorial’

(2) A practice on which there was social unanimity

(3) A belief that was backed by the khaps

(4) A practice that was part of the history of the people

116 | 7" Faad § ¥t € AOHET Ja9aT fun frost fen =8 ge® ags 3 f= At, 37 fen & fen § ‘ygas
TJéa’ € &t @ WIe93 gfge fesr | fed yar § fa= ufgerfaa aiar fapur it :

(1) fAR IT® & 993 AHT Ufgst 3 wagae T famT g (2) wifAaT fe=org far Sug A Aggri=t /T

(3) mirgT feme™ fAan T AHgEs yut @8 13T fapr mt (4) wifagT fe<sag fagsT 8ot € fefgam e for A

117 | DPI is the acronym for
(1) Director of Prosecution and Intelligence  (2) Department of Personnel and Investigations

(3) Director Private Instruction (4) Director Public Instruction

117 | ppI fam & yaH-»ydt gu 3 :
(1) Director of Prosecution and Intelligence (2) Department of Personnel and Investigations
(3) Director Private Instruction (4) Director Public Instruction

118 | The science that deals with the study of the Earth and its lands, features, inhabitants, and phenomena
is called
(1) Paleontology (2) Geography (3) Biology (4) Sociology

118 | @q fefarnrs fagsT fya<t W3 fen &t €, Be<t, THmt w3 939 € rfis 5% FEfaz T -
(1) vgge -fefamrs  (2) FAi®-AHIT (3) Fie-fefarns (4) A fefapnTs

119 | Feminism refers to
(1) The ideology that women should be treated at par (2) The ideology that women should rule
(3) The ideology that men should rule (4) That women should be given more opportunities than men

119 | srdlee fan e A daer 3 7

(1) feg fegraurar fa niazt § gam9e Mgt gt 9

(2) feg feggurar fa #i93 § AHS J9aT Irdter §

(3) feo fegraurer g yont & AR J9&T Idter &

(4) feg fegrauraT fq yant 578 T T »EHT YE'6 Jd6 I I&
120 | “Where the mind is without fear” were lines by

(1) Mahatma Gandhi (2) Swami Vivekananda

(3) Gurudev Rabindranath Tagore (4) Sardar Bhagat Singh
120 | fgg A3t fam €t I& : “where the mind is without fear”

(1) HOT3HT Irat (2) Pt fefade (3) Jge= TTEET 5 Id  (4) AIE'd 9913 fiw
121 | The name of the regent who reigned for Akbar was

(1) Humayun (2) Babur (3) Bayram Khan (4) Salim
121 | @r diA'e = ot &t At fAR & Wd9d THI HTHS 13T

(1) g (2) g8 (3) I yt (4) A&

122 | The earth has an axial tilt of 23.4°. This means that
(1) The earth wobbles around its axis
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(2) The earth has varied weather during the year
(3) The hemispheres of earth are exposed to the sun for different times during the year
(4) The earth is a sphere

122 | fyg<t er mawt ga 23 .4 f3adt T I fem e W3msw I fa -

(1) fye=t »muE waw e FIMErgE I (2) fys<t & A few fefgs imi ger
(3) ygst € @98 A feg Y- 4 AT 3 Faa vidr YEre J€ 06 (4) ug=t aisT

123 | Making a living is

(1) A right given to us by the government (2) A divine right

(3) A right given to us by the courts (4) A fundamental right
123 | g&t e

(1) Fgad &8 Ag fe 3 nifaag I (2) €<t nifgag

(3) MEB3T =B A fE 3T mifaag § (4) H® mfaag d

124 | The empire of King Harsha was spread over
(1) The area from the southern sea to the northern mountains (2) The western sea to the eastern sea

(3) The Ganga Yamuna valley (4) Afghanistan to Assam
124 | graT gaw & AMO'H fa& 3a Sfemr Gfewmm it :

(1) €4S A 3 §° 34T ugg3st I = fegmar (2) UBH! A9Ie 3° Ygst AaE 3T

(3) IO WHET Wt 3T (4) WA T&GAI™E T WA 3T

125 | The Radcliffe line forms the boundary between
(1) India and Pakistan (2) India and China (3) India and Myanmar  (4) India and Afghanistan

125 | gzafse dyr fagt fegara W fanfeg aoet 3 :
(1) I3 M3 UTaAa™s  (2) 93 M3 916 (3) IS M3 HATHG  (4) T3 M3 MBI TEHIS
126 | Social Sciences study

(1) Societies (2) Indivduals (3) Governments (4) Philsophies
126 | mA-fefarrms wifods a9e 35 :
(1) AT &7 (2) fonadtut er (3) AgATaT ET (4) SIHS-HH3TT &7

127 | The division of the people of India into linguistic provinces was based on the principle that
(1) Providing administration to people in their own language is a good in itself

(2) All of these

(3) Using local languages makes for easier administration

(4) Language is an important bond which unites people and creates an identity for them

127 | grg3g @ Bat &t g yeut feu <3 fen fauis 3 wrofes At fa -
(1) Bat & Gt & mrust I feg YIS € € aH MruE vy feg 9ar aH 9

(2) feg Ara ot

(3) FETfsd IR € ¥93° YATHS § AT gTEET 9

(4) IH HU 3=UTS 85 J frAoaT 8aT § Azger d M3 88T 88 ug'e ge8er Jd
128 | Class room teaching should be

(1) Intense (2) One sided (3) Interactive (4) Easy
128 | gm™HaH niforys 3= :

(1) =g (2) feg-ums (3) UInAug faqmm3ana (4) ™S
129 | The current Lok Sabha is the

(1) Thirteenth Lok Sabha (2) Fifteenth Lok Sabha

(3) Fourteenth Lok Sabha (4) Sixteenth Lok Sabha

129 | Hger 8a AgT 3 :

(1) 3g<t B AT (2) iegst Ba AT (3) Ig<t BA AIT (4) AIZ<T 89 AT

130 | Article 370 of the Constitution concerns the state of

(1) Himachal Pradesh ~ (2) Jharkhand (3) Jammu and Kashmir (4) Tamilnadu
130 | Afeurs er migew 370 faus a7 &7 AEfuz 3 :

(1) fore® yeu (2) 94T (3) AIY W3 aaHig (4) 3BEF
131 | The highest earth filled dam in India is

(1) Ranjit Sagar (2) Bhakra (3) Tehri (4) Hirakud
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131 | gra3 few §9a fWt-yfeg 3 3 -

(1) I3 Aad (2) FTUzT (3) eg=t (4) dlaas
132 | The Chief Justice of India is appointed by
(1) The Prime Minister of India (2) The parliament of India
(3) The President of India (4) The Lok Sabha
132 | grgg 3 1% Anfen €t foagast d= aaer 3 :
(1) 9793 € YU's H3dt (2) 93 € AAE (3) g3 €T JTHSIUIT (4) 8 HIT

133 | Who was Pliny?

(1) A poet who wrote on the history of India

(2) A warrior King who settled in Afghanistan

(3) A Roman scholar who mentioned India as a trading nation trading with the Roman empire
(4) All the above

133 | ymrfeast d< i :

(1) fea a<t fam & 393 & fefaam g9 fafmr

(2) GUT geug fAusT miearfans s feg »rare dfemr

(3) W& feee s fAR & 9793 T IHS AHTH &'% TUTT Jd6 '8 SUTd JTHSd B FISS AT

(4) Budas A It

134 | Education of a child takes place

(1) at all three, home, school and society (2) in school (3) in society (4) at home

134 | g% €t fafypn fag get 9 -

(1) ua, g8 M3 A f3st few (2) nas few (3) A feg (4)wq feg

135 | The second urbanization in India is supposed to have happened approximately in the 6" century BCE.
When did the first urbanization happen, approximately?

(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE

135 | gr93 feu ga Afgdiags Bargar 6-<1 AEt BCE feg Sfen ifenr Aer § | ufos™ afgdtdes sagar as
Jfenr :
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE

136 | The Gateway of India, the India Gate and the Teen Murti were built

(1) To welcome George V, to honour the war fatalities of the Indian army, fatalities in the First World War
respectively

(2) To welcome the English King, to welcome the English Viceroy, to welcome the Prince of Wales respectively

(3) To honour the English Queen Victoria, to celebrate the victory in the First World War and to honour those slain
in the Second World War respectively

(4) none of these

136 | g93 e diel, f&stu dic M3 Jts Yot fan = A3 geee o :

(1) IHST 77aH V € IHTIIS BEL, 37931 Ast &t @0 feg 98t i3t € mans &8, ufad feme gu feg getmt
W3t Bt

(2) IHIT MITIH TTEH™T € HATIIS BET, MIgH STERTTE € FHII3 BE1, T8H € IAIHE € BHII3 et

(3) IH=TT MAH HOTI'ST fededT € AaHTs &et, Ufod feme gu few A3 § HaEe et 3 €8T € Ao
&et fAus g+ fere U feg W9 I A

(4) Qudas feg gt &t &dt

137 | Project work is important because

(2) It enables students to be creative (2) It creates some work for students
(3) Learning by doing is more lasting learning (4) It enables teachers to be creative
137 | §sge e aH Ho'3=yes 3 fag fa -

(1) feg fefenraghnt § I9&3HT 95 € War ge8eT I (2) feg fefenragh Bt g3 91 Uer ggeT
(3) I I3 & fAYST =09 maret fAftr-yrust O (4) feg miformud™ § I9&™3HT 96 € GaT g8 ET I

138 | The Supreme Commander of the military in India is
(1) The President (2) The Prime Minister
(3) The Home Minister (4) The Defence Minister

138 | grgg feg AaT @ FUINH IHTST I -
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(1) AUt (2) Yo H3at (3) Irfa Hadt (4) T ¥rzat
139 | Teaching techniques in the social sciences could involve

(1) Role Playing (2) All of these (3) Projects (4) Lectures
139 | my-fefarrs few rftus 3astat feg Arve g9aT Iater 9 :

(1) ghhar fagger (2) Bydaz A9 T (3) §rae (4) BIIT
140 | The Ranjit Sagar dam is located near the village

(1) Naldhera (2) Thein (3) Nathpa (4) Jhakri
140 | g=w13 AE 3 faus iz € S Afas 9 :

(1) 3BT (2) 85 (3) 38T (4) g7t
141 | The strength of the Mughal imperial system lay in

(2) Its harsh laws (2) The mansabdari system

(3) Its ability to be paternalistic (4) The cooperation extended to it by other Indian rulers
141 | yors AnieT+ Yia € Hagst fan fea At :

(1) fen € 39 I §5 (2) HEHgETST YET

(3) fuzdieret g < fer &t GarsT (4) few & o 9793t HHaT @8 fe 3T Afgdar

142 | Which of the following factors are responsible for the rapid growth of sugar production in south India
as compared to north India?

I. Higher per acre field of sugarcane Il. Higher sucrose content of sugarcane
lil. Lower labour cost IV. Longer crushing period
(1) 1and Il (2)1, land IV (3)1, Il and IV (4) 1, 1l and NI
142 | @°3dt 9793 €t IBaT feu TSt I93 feu ¥z @3uTes &t 37 feut 5t fie9 aod faosT &
1. I8 €t Y3t ga= @939 Gun 1. WIZ& a7 97 Ant
IIl. fars3a Haedt Bar3 Iv. & & €939 43 H3ar
(1) 131l )1, 13 IV (3)1, M IV (4)1, 113 11l
143 | After which Census was it discovered that the population of India is growing at a rapid rate
(1) 1921 (2) 1931 (3) 1951 (4) 1901
143 | fggst AsdIest 3 gvw feg uzgT gfew fa 993 &t Asifvrr ST o s @ Su aat I -
(1) 1921 (2) 1931 (3) 1951 (4) 1901

144 | The Protection of Civil Rights Act was designed to
(1) Protect the civil rights of individuals  (2) Prescribe punishment for the practice of Untouchability
(3) Protect the civil rights of social groups (4) Protect the civil rights of citizens

144 | mrarfad nifgarat € g aftpnr mifufswn fam TS fanra a3 fapd wt :
(1) femadtmt € srarfaa mfuarat & fonfes sasT (2) gg3 © fe=urd &t Aar fanfex aaat
(3) AMTAA AYTT € &Ta1fad fuarat € Ha o™ qaat (4) aTaTfadt & &TaTfad »ifaarat & Ha fur™ JaaT

145 | AJPC, in the context of the Indian parliament stands for

(1) Joint Parliament Consul (2) Just Parliament Consulting

(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
145 | g9t Ame € yHaT feg JPC e Yas gu &t 3 :

(1) Joint Parliament Consulting (2) Just Parliament Consulting

(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
146 | Who took charge as Prime Minister at the death of Jawaharlal Nehru?

(1) Gulzarilal Nanda (2) Morarji Desai (3) Lal Bahadur Shastri (4) Indira Gandhi
146 | A=g9 ®® &fag €1 fieg fug’ yurs 13t de sfen:

(1) BT BT SaT (2) HaTgHT TATET (3) B'% gJ9T€d HTHIIT (4) féegr arut

147 | The difference between a primary and secondary source is that

(1) A primary source is primary while a secondary source is secondary

(2) A secondary source is closest to the person, information, period, or idea being studied
(3) A primary source is closest to the person, information, period, or idea being studied
(4) All of these

147 | yrafia W3 A< 3 feg waa fea 9 fa -

(1) yaHa A3 yaiig § w3 dic A3 dic &

(2) die A3 mftis A3 77 99 fen@3t, AEsT, T A fegd € fadesH Jer d
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(3) yaiia A3 miftis 3 A7 99 fema3t, gosT, 3% Af feg9 e fagesn Jer g

(4) feg g ot

148 | The revolt of 1857 was also called the sepoy mutiny and the first war of independence. What was the
importance of these different names for the same set of events?

(1) To identify the main actors in these events

(2) To measure the degree of anticolonialism in the Indian people

(3) To understand the different outcomes that resulted.

(4) An act of self-publicity on the part of those who gave these names

148 | 1857 ¥ fewdu § fAudtt & gares w3 A3393™ © ufosT gu <t wifnr wieT & | fed famy &bt
wesTet € AYY Bt fegt fefds a=t e gt Hos= At :

(1) fegt weatet feg yy-Hr39r & forsedt gaaT

(2) 3793t Bat feg gAStere-fedu & W3gr 37 fonrg Zarger

(3) few 3 s fefds fifent & mivet

(4) €&t fonadt =& Ae-ya'9 & gaeret fast & feg &f fE3

149 | Lok Adalat is

(2) All of these

(2) A court to settle disputes through compromise or settlements

(3) A court designed to shorten the time taken for settling disputes

(4) A court run by the people

149 | g wes3 T :

(1)Ag &5 Gug

(2) AHE3 AT faueTd adt saifant T INTTTS d96 T8 HEB3

(3) gaifantt € faued &et B =93 § weEe Bet famels A3t e a3

(4) BaT & IBTE ALl MBI

150 | What was common to the following scholars from Ancient India: Apastamba, Baudhayana , Katyayana,
Manava, Panini, Pingala, Yajnavalkya

(1) They were astronomers (2) They were grammarians

(3) They were poets (4) They were mathematicians

150 | yits 9793 € Jo fou feeerst fev faust ars Aist At :
(1) 80 ywIis-fefarst is (2) €0 fodags-rAadt A (3) Qo dstAs  (4) 89 Jifeg-rrAadt A
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